Shell-WP Montaj Manueli M.05.11/07.02.2024

Tilia

Temizlik ve Bakim SheII-WP Montoi MQI’]UG“ ;[/‘;l;e':,t:,f

Talimat
icerik
G) 1 ad. Shell Kabuk b) 1 ad. WP Ayak C) 4 adet M6 Diiz ince Pul
SOSOSS
@ & )
O Shell Plastik Kabuk O Shell Plastik Kabuk M6x20 Civata (Désemeli Kabuk icin)
@ & Mé6x16 Civata (Plastik Kabuk icin)
O Shell Dosemeli Kabuk [ Shell Dosemeli Kabuk
/
1|
Kabuk (a) uygun bir zemine ters sekilde yerlestirilir.
Ayak (b) tizerinde bulunan iicgen isaretler kabugun 6n
tarafina hizalanarak kabuktaki vidalara oturtulur.
4 adet M6 pul (c), ayagin (b) alinda bulunan
bosluklara yerlestirilir.
Méx20 ya da Méx16 4 adet civata, pul yerlestirilen kisimlara
4 numara alyan veya 4 numara alyan uclu sarjli matkap ile
sabitlenir ve kurulum tamamlanir.
00/00 \ Litfen vidalan sikarken asir giic uygulamayin. 1/2



M.05.11/07.02.2024

Shell-WP Assembly Guide

Tilia

Careand Cleaning Shell-WP Assembly Guide e

Instructions

Content
G) 1 pec. Shell b) 1 pc. WP Leg C) 4 pcs. M6 Washer
SOSOSS
@ @ e
O Shell Plastic O Shell Plastic M6x20 Screw (For Upholstered Shell)
@ & M6x16 Screw (For Plastic Shell)
0 Shell Upholstered O Shell Upholstered

and place the leg (b) below the seat. Triangle mark
should face the front of the seat. Pass the holes of the
seat legs to the screws locations under the seat.

] Place the seat (a) upside down on a suitable ground,

4 pieces of M6 washer (c) are placed into the slots
standing (b).

where the washers have been placed using a 4mm hex key or a
cordless drill with a 4mm hex bit, completing the installation.

3 Four screws, either M6x20 or Méx16, are fastened to the areas

00/00 \ Please do not apply excessive force when tightening the screws. 2/2
°



